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Tuesday, September 22, 2015
--- On commencing at 9:31 a.m.

MR. MILLAR:  Good morning, everyone.  Welcome to day 2 of the technical conference.  We are continuing the examination of -- under Exhibit 4.

And, Mr. Taylor, are there any preliminary matters we need to address?

MR. TAYLOR:  No.

MS. ARMSTRONG:  Yes.  There is a preliminary matter.  Mr. Harper...
Preliminary Matters:


MR. MILLAR:  Mr. Harper, you had a preliminary matter?

MR. HARPER:  Yes, I did.  Yesterday I was in a conversation -- I believe it was with Mr. Miller -- about 2011 to 2014 CDM impacts that they had included in their load forecast in their LRAM models.  That's about page 127 of the transcript, and specifically the total annual impacts of CDM programs that they had included both by calendar year and by program year in those two items and how they reconciled with the OPA forecast.

And I think at the time the thought was you would get back to me after the break, but since that didn't occur, I was wondering if we could just sort of, so it doesn't get lost in the process, assign an undertaking number to that particular request.

MR. MILLAR:  I think I heard a yes there, so that is Undertaking JT2.1.  
UNDERTAKING NO. JT2.1:  RE:  2011 TO 2014 CDM IMPACTS THAT WERE INCLUDED IN THE LOAD FORECAST IN THE LRAM MODELS, ABOUT PAGE 127 OF THE TRANSCRIPT, AND SPECIFICALLY THE TOTAL ANNUAL IMPACTS OF CDM PROGRAMS THAT WERE INCLUDED BOTH BY CALENDAR YEAR AND BY PROGRAM YEAR IN THOSE TWO ITEMS AND HOW THEY RECONCILED WITH THE OPA FORECAST.

MR. MILLAR:  Okay.  Was that everything, Mr. Harper?

MR. HARPER:  Yes, it was.  Thank you.

MR. MILLAR:  Okay.  Mr. Shepherd, I think you are starting us off?
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EXHIBIT 4 QUESTIONS

Examination by Mr. Shepherd:

MR. SHEPHERD:  I am, indeed.  And I just want to get up one of these -- one of the interrogatory responses that I don't have here.  And I am starting with 1 SEC 12.  And 1 SEC 12 asks about the impact of the shared services model.  You said that your OM&A per customer would be $300 if you didn't have the shared service model.  And we questioned that.  And -- but you have agreed $300 is what you would end up with.

So I guess my follow-up question is:  Why would your OM&A customer per customer be so high in a place like Kingston?  I would have thought it would be in the sort of 240 to 250 range like most other similar utilities.

Can you help me with that?

[Witness panel confers]


MR. JOYCE:  I think the best answer we can give to that is simply that the calculation, of course, is a theoretical calculation that we based on numbers and is our best estimate of what the costs would be.  We haven't done any further analysis of that to determine whether or not any additional savings could be realized if we were a sole model, not the multi-utility model.  Our indications, our estimates, show $300 would be an approximate number.

MR. SHEPHERD:  You're claiming that your savings are about $65 a customer, right, give or take?  Your OM&A per customer is around 235, and your -- and it would be $300 if it weren't for the multi-utility model.

MR. JOYCE:  Yes.

MR. SHEPHERD:  And you're 15 percent above the industry average, so 45 of that 65 is -- you would be over the industry average; right?  Roughly.

MR. JOYCE:  Sure.

MR. SHEPHERD:  And so do I take it that what you're saying now is, well, you're not actually sure about the 300.  The 300 is simply theoretical, and it may be that you could get that other 45 if you were in that model and had to do it.  Is that fair?

MR. JOYCE:  What we're saying is, when we calculated the savings that we believe are happening with our multi-utility model, it is amounting to about that $65 per customer.

MR. SHEPHERD:  Well, but I thought I heard you just say you might be able to get some of those savings without the multi-utility.

MR. JOYCE:  What I'm saying is that we haven't done any further analysis on that --


MR. SHEPHERD:  So you don't know?

MR. JOYCE:  -- beyond...

MR. KEECH:  So the question was posed to us.  We answered as best as we could.  As Mr. Joyce said, it is a theoretical answer.  What we have focused on in our application is the savings as a result of our model.  We haven't really spent -- we haven't spent any time looking at what our costs would be if we didn't have the model, because that is not where we're anticipating going.  We believe there are savings from the model.  That's what we've showed, and as Mr. Joyce said, the answer was a theoretical calculation.

MR. SHEPHERD:  Yes.  I am just trying to understand what you meant by the savings, because obviously if you would have got the savings in a different model, then they're not really savings, are they?  That is what I'm trying to understand.

MR. KEECH:  Yes.  And I guess our answer to that is we don't know.  We know what our savings are as a result of our model.  If we were sold to Hydro One or merged with Veridian or whatever we --


MR. SHEPHERD:  Please don't say that.

MR. KEECH:  -- don't -- we don't -- again, I think you get my -- so my point is we've tried to bring forward our savings as a result of the model.  Any other setup that we might have, we really can't answer.  We can take a best guess, which is what we did here.

MR. SHEPHERD:  All right.

So now I am looking at 1 SEC 15.  1 SEC 15 asks for the shareholders' agreement for Utilities Kingston.  And you said you don't think it is relevant.  Does the shareholders' agreement for Utilities Kingston deal with the operation of the utilities under Utilities Kingston's control?

[Witness panel confers]


MR. KEECH:  Sorry, could I just get you to answer the -- ask the question again?

MR. SHEPHERD:  I can answer it, but you might not like my answer.  Does the shareholders' agreement for Utilities Kingston deal with how Utilities Kingston operates the utilities under its control?

MR. KEECH:  No, not really.  I don't have it here to look at, but I would say the shareholders' agreement -- and I may not be completely understanding your question.  It does not get into how we carry out the day-to-day operations of any of the --


MR. SHEPHERD:  That wasn't what I was asking.  It requires, for example, certain types of reports, right, about all the utilities, including Kingston Hydro?

MR. KEECH:  No, it doesn't.

MR. SHEPHERD:  It requires no reporting?  I have never seen a shareholders' agreement that didn't require reporting.  In fact, I know the precedent you use, so I sort of know what is in it.

MR. KEECH:  You know what?

MR. SHEPHERD:  I know the precedent that was used for Utilities Kingston, so I -- because I have seen it in other utilities.

So I am asking because there are things that are naturally in an agreement like that that relate to Kingston Hydro.  If you're telling me there is nothing in the agreement that relates directly or indirectly to Kingston Hydro, that's fine.  You can tell me that.  I'm just -- that is what I'm asking.

[Witness panel confers]


MR. KEECH:  One second.

[Witness panel confers]


MR. KEECH:  So to the best of my knowledge, sitting here, I don't believe there is any reporting to the shareholder.  It deals with what businesses we can begin, the steps that we need to go through if we were to get into a different type of business or exit a business or -- I mean, going back to my bad example, if we were to sell a portion of the business to Veridian or someone like that.  But for actual day-to-day management reporting, that is not covered off in the shareholders' agreement.

MR. SHEPHERD:  So I'm sorry.  It does have some things in it that relate to Kingston Hydro and the Kingston Hydro businesses?

MR. KEECH:  So that would be -- sorry, I think we're mixing -- that would be in the shareholders' agreement for Kingston Hydro.

MR. SHEPHERD:  I am not asking about that.  I'm asking about the Utilities Kingston agreement.

MR. KEECH:  No, to the best of our knowledge, not.  That would be in the Kingston Hydro one.

MR. SHEPHERD:  So there is nothing in the Utilities Kingston agreement that relates directly or indirectly to Kingston Hydro?

MR. KEECH:  To the best of my knowledge, not.

MR. SHEPHERD:  Will you undertake to go check?

MR. KEECH:  Yes.

MR. SHEPHERD:  Thank you.

MR. MILLAR:  JT2.2. 
UNDERTAKING NO. JT2.2:  TO CONFIRM IF THERE IS NOTHING IN THE UTILITIES KINGSTON AGREEMENT THAT RELATES DIRECTLY OR INDIRECTLY TO KINGSTON HYDRO

MR. SHEPHERD:  My next question is on 4 Staff 70.  4 Staff 70, you were asked to make the 2011 Board-approved breakdown of OM&A comparable to -- in terms of breakdown, to the 2011 through 2015 actual and forecast and, of course, the 2016 budget.  And you refused.  You said you can't take the envelope production and put it anywhere.  And so I am going to ask you again to do that so that we can have comparable data.

MR. MURPHY:  So, again, we don't have that information.  The Board approved an envelope.  They didn't approve line by line.  So you are asking me to provide something we don't have.

MR. SHEPHERD:  So how did you cut down on your spending?  Did you have a budget at all in 2011?

MR. MURPHY:  As noted at the bottom of the page here that's on the screen, we managed to -- pretty much the 2010 budget until we got our decision, which was mid-2011.  We didn't know what we were going to get, and so we just -- it was basically status quo until we got our decision halfway through 2011.

MR. SHEPHERD:  Well, but you spent -- you spent $240,000 less on management and $200,000 less on utility administration.  Was that just accidental, or was that an actual cutback because you had less money?

MR. MURPHY:  Again, we were just going as status quo from 2010 onward into 2011, before we knew what the decision was going to be.

MR. SHEPHERD:  Well, then how did you end up $900,000 less than your proposed budget?

MR. MURPHY:  So our proposed budget in 2011 had significant increases in, you know, a lot of staff, new staff.  And when the Board did its envelope production, we didn't get those.  So it was basically 2010 carried forward.

MR. SHEPHERD:  But it wasn't pay increases; right?  It was -- you didn't add people, and you didn't take on new projects and stuff like that; right?

MR. MURPHY:  Primarily, it was the staff additions.

MR. SHEPHERD:  All right.  Of which the major ones were in engineering; right?

[Witness panel confers]


MR. MURPHY:  I don't think it was any one area back in 2011.  It was line staff.  It was some admin that we had requested.

MR. SHEPHERD:  Well, you're down $275,000 in engineering.  I assume that must be some people.  You didn't just stop engineering stuff, I assume.

[Witness panel confers]


MR. MURPHY:  Yes.  I can't comment on the difference between the 2011 Board-approved engineering differences and what the actuals were.

MR. SHEPHERD:  Here is where I am going with this:  You asked for more than a million dollars, a million 64, for the engineering budget in 2011 and spent 285,000 less.  But, in fact, your current budget for going forward is actually $400,000 less than you asked for in 2011.

So I am wondering why that is.  I understand if you had to delay something; I get that.  But it looks like the million 64 was simply way too high, and you never needed it.

[Witness panel confers]


MR. MURPHY:  I think, in response to your question, the answer would be that, for the engineering group, depending on what we're doing on a year-to-year basis, some of the engineering staff time would be allocated to general operating expense, and some would be allocated to specific capital projects.  And I think that is the difference, the answer to your question.

MR. SHEPHERD:  But every year, starting in 2011 right through to 2020, you're forecasting a materially less amount than what you asked for in 2011.  So it's not just the normal ups and downs, is it?  It's actually some substantial difference between what you asked for and what is your normal course for the next 10 years.

MR. KEECH:  So we're asking for less.  Yes, that's correct.  They obviously didn't want me to say what I am going to say.

[Laughter]

MR. KEECH:  I think -- so if your question is more focused on 2011, we probably need to understand what that is and take an undertaking, because it is a bit difficult, sitting here a number of years later, just recalling what the difference was.  If the question is going forward, then I think we can answer that now.

MR. SHEPHERD:  What I am trying to understand is:  Is there a problem with your forecasting?  Did something happen in your approach to engineering that changed it?  It is a striking difference.  A $400,000 reduction in $1 million budget that is permanent is a striking difference.

MR. KEECH:  So I think it is best we take an undertaking and go back.  I mean, we're trying to answer this as best we can, but we probably need to go back and take a further look at that.

MR. SHEPHERD:  Thank you.

MR. KEECH:  And I understand the question.

MR. SHEPHERD:  Okay.

MR. MILLAR:  JT2.3.  What is the company undertaking to do?

MR. SHEPHERD:  Explain the reduction from the $1 million-plus budget in 2011 to a substantially lower budget all the remaining years.

MR. MILLAR:  Thank you.  
UNDERTAKING NO. JT2.3:  TO EXPLAIN THE REDUCTION FROM THE $1 MILLION-PLUS BUDGET IN 2011 TO A SUBSTANTIALLY LOWER BUDGET ALL THE REMAINING YEARS

MR. SHEPHERD:  All right.  I am now on 4 staff 71, and this is relating to shared services.  I am in (b)(i) where you say:

"The City of Kingston determines proposed increases to shared services annually with the budget cycle."

And so what I am trying to understand is:  In what sense does the City of Kingston determine what you pay for the services you share?

MS. TAYLOR:  Essentially, on an annual basis, we review with the city what services we're purchasing from them, because there can be some shifts back and forth in what we find to be most efficient, depending on staffing our different needs at the time.

MR. SHEPHERD:  So like tree-trimming a couple of years ago, where you said we don't want the private contractor; let's get the city to do it?

MS. TAYLOR:  That's correct.  Or as the example I offered yesterday with the database administrator.

So there can be some shifting back and forth.  So, therefore, we review with them fairly regularly if there have been some changes, and then determine the charges that would be appropriate from there.

The city passes the charges on to us with no markup.  They do -- they basically try to look at actuals.  And in our last rate application, we submitted a study that looked at how those allocations took place, and we're still following those same practices.

MR. SHEPHERD:  But this sounds like they said, "You know what?  We're going to increase it by 3 percent," and you said okay.

[Witness panel confers] MS. TAYLOR:  So that is essentially a placeholder.  The 2016 costs have not yet been determined.  That is for the purposes of us being able to predict what that might be.

MR. SHEPHERD:  I don't understand.  You mean it's   not --


MS. TAYLOR:  The city hasn't actually determined the 2016 charges to Utilities Kingston at this point.

MR. SHEPHERD:  Why would you let any supplier determine what they charge you?  Do you do that with your other suppliers too, whatever you want?

[Witness panel confers]


MR. KEECH:  So maybe "determining" wasn't the best use of words.  The City of Kingston is currently in its budget process for 2016, which will be presented to council two months from now, approximately.  After the City of Kingston does that, then representatives from the city will sit down with U.K. staff and basically negotiate what the increase to U.K. will be.

As Ms. Taylor indicated for budget processes, and I think -- I don't think we're any different than anyone else.  There are things that you do not get a defined value until sometimes you're actually into the budget year or closer to it.  We have put a 3 percent placeholder in there for now, and that may be based a bit on historic or projections, but it will be following the process that the city goes through, which I think people are aware of, with councils and whatnot.  There will be negotiations.

MR. SHEPHERD:  Why would it be 3 percent?  I can't imagine the City of Kingston is going to increase property taxes by 3 percent.  I mean, maybe they will, but I would be surprised.

MR. KEECH:  So what we used was, as is on the screen here, just the 3 percent inflationary target, I guess, from the Bank of Canada.

MR. SHEPHERD:  Well, no.  The Bank of Canada's target is 2 percent, actually.  They have a range, but it's two --


MR. KEECH:  Well, yes, there is a range of one to three.  We used the 3 percent, but, I mean, that is the answer to the question.

MR. SHEPHERD:  All right.  So that 3 percent, then, is about, what, $15,000, as opposed to 10, if it was 2 percent; right?  Because it is only the City of Kingston; right?

MR. KEECH:  I don't have the numbers right in front of me, but subject to check --


MR. SHEPHERD:  They're right on the page, actually.  But you just can't see them.  If you go to the top of that same page, you will see them.  Right there.  Right?

[Witness panel confers]


MR. KEECH:  Yes, yes.

MR. SHEPHERD:  Okay.  So -- and then you're assuming that it is going to go up by 1.7 percent a year after that because, although the city might ask you for more money, you can't actually give them more money because your OM&A is going up by 1.7 percent under the formula you've proposed; right?  That is what your forecast is.

MR. MURPHY:  The formula we proposed would be based on the -- not necessarily on 1.7, whatever the inflation target is, minus the productivity.

MR. SHEPHERD:  Yes.  All right.  My next question is - -- oh, yes, tree-trimming, which we talked about at great length yesterday, but it was so much fun I wanted to talk about it again.

The thing that I found surprising is you talked yesterday as if tree-trimming was a -- that it was a benefit to move to the city.  But it looks like, when you move to the city, the costs went up.  Isn't that right?

MR. JOYCE:  As is indicated in the evidence, in 2012, we noticed -- or Staff noticed some concerns with the private contractor that we had undertaking the work for tree-clearing for Kingston Hydro.  And on performing a more rigorous audit of what they were doing, we halted their work and then sought to find better value for this type of work for us.

So at that point in time, when we approached the City of Kingston to see if they would be willing to undertake the work for us and they were willing to do that, and the costs -- so we look at the bang for the buck.  And although the costs in some previous years were less, the quality of the work -- the quality of the work was not to the level that we were really satisfied with.

So that's the purpose for the change.  We believe we actually get much better value.

MR. SHEPHERD:  So did you go out to RFP?

MR. JOYCE:  We did not go out for RFP.  We had gone out for RFP in all of the preceding periods.

MR. SHEPHERD:  And you had multiple bidders?

MR. JOYCE:  Yes.

MR. SHEPHERD:  And so you went from 2011 tree-trimming of $62,000 a year to 2016 forecast of $296,000 a year.  That is 4.5 times as much.  I am surprised that you thought that you were getting 4.5 times as much value from the city.

MR. JOYCE:  So I think you are quoting a budget number, not actuals.  In 2011, we spent 176,000.

MR. SHEPHERD:  Oh, all right.  Well, then, what was the budget number?  Why did you say it was 62 if it wasn't 62?

MR. JOYCE:  Sixty-two was a budget number.  The actuals were 176.

MR. SHEPHERD:  Why?

MR. JOYCE:  I'm sorry?

MR. SHEPHERD:  Why?

MR. JOYCE:  I would have to go back, but I believe there were numerous hotspots that were identified that year.

MR. SHEPHERD:  So the cost is only twice as much as it was?  I'm still surprised that you wouldn't go out to RFP and let the city bid.

MR. JOYCE:  The reason we didn't do an RFP is, in the past, we have not had good success with the RFP.

MR. SHEPHERD:  Did you have problems with the quality of contractors for multiple contractors in the past or only the one that you had that you changed from?

MR. JOYCE:  The contractor that we had that we changed from.

MR. SHEPHERD:  Okay.  So then why wouldn't you just disqualify them and RFP everyone --


MR. JOYCE:  The -- in the other RFPs that we had undertaken, this contractor was by far the lowest-cost contractor --


MR. SHEPHERD:  Now we know why, because he wasn't any good; right?

MR. JOYCE:  -- and -- and the other contractors are all from out of town.  This was the only contractor that we have in our local area.  There are no other contractors.  All of the other contractors are more nationally based, and their costs were exorbitantly high, exorbitantly higher.

MR. SHEPHERD:  More than twice as much?

MR. JOYCE:  Much more.

MR. SHEPHERD:  All right.  So you didn't do an RFP because you simply didn't see any possible bidders that would be good enough and would be cheaper than the city.

MR. JOYCE:  That's correct.

MR. SHEPHERD:  All right.  So how did you decide what the city paid?

MR. JOYCE:  It's based on cost.

MR. SHEPHERD:  Well, it is an allocation; right?

MR. JOYCE:  It is actually based on their costs.  The crew costs, their labour costs, and their trucking costs are directly allocated.

MR. SHEPHERD:  No overheads?

MR. JOYCE:  No.

MR. SHEPHERD:  Just the direct --


MR. JOYCE:  The only overhead is that there is a nominal monthly amount that we provide an agreement for fuel for the chainsaws and things like that.

MR. SHEPHERD:  Yeah, no.  That's not what I am talking about, overhead.  I'm talking about things like the costs of the employees, like -- like -- typically you add 40 percent or something to the hard costs of the employee for things like benefits and stuff like that.

MR. KEECH:  So I think it is best that I answer.  I think actually I answered most of this yesterday.

MR. SHEPHERD:  You did.

MR. KEECH:  And just, I think most people in the room are aware that, at the end of the day, these people report to me in a bit of a different role, which is why I am jumping in here.

So what Kingston Hydro pays the City of Kingston is what I would call the City of Kingston's costs.  So the City of Kingston neither makes money nor loses money on this.  It was set up that way, as I think I explained yesterday.

So if we're looking at an arborist, we pay their hourly rate, whatever it will be, plus what I call the overhead expenses that load that up -- so health benefits, dental benefits, vision, vacation, that type of thing.  But there is not like a 10 percent charge on for engineering or anything along those lines.

MR. SHEPHERD:  So it is a loaded hourly rate; right?

MR. KEECH:  Yes.  So the city doesn't lose money.  I mean, it's like -- I mean, any of the Kingston Hydro people, if the line guy makes 30 bucks an hour, then by the time we add in all of the other benefits, it is probably -- I don't know -- 40 bucks, 45 bucks an hour, which I would call the loaded costs.  We do the same thing with the City of Kingston.

MR. SHEPHERD:  All right.  And, of course, you do it, or your staff do it; right?

MR. KEECH:  Right about now, that sounds like a pretty good occupation.  So I wouldn't mind going out doing that.

[Laughter]

MR. SHEPHERD:  So you have two hats.  You work for the city and you work for U.K.; right?

MR. KEECH:  So I work for U.K.  I provide a service to the City of Kingston, but I work --


MR. SHEPHERD:  From their point of view, you fulfil a role that would be a staff role, if you weren't there?

MR. KEECH:  Not really.  I provide a contract service to the city.  I am not viewed as a staff member.  I am not viewed as a commissioner of Public Works.  I am viewed as the CEO of Utilities Kingston and Kingston Hydro that provides a service.

MR. SHEPHERD:  You have people who work for the city who report to you?

MR. KEECH:  Yes.

MR. SHEPHERD:  So that means that's like a staff role; right?

MR. KEECH:  A similar service.  But the point I am making is I am not staff of the City of Kingston.

MR. SHEPHERD:  And the people who supervise the Public Works staff who do this sort of thing and report to you, do any of them work for U.K., or are you the only one involved in this chain that works for U.K.?

MR. KEECH:  Yes.  Could you -- I better get you to ask the question again.  That's why I am pausing --


MR. SHEPHERD:  Well, I am trying to figure do you have -- at the City of Kingston, you have an organization, Public Works, that has – basically, it is all staffed, except the boss works over here.

MR. KEECH:  Right.

MR. SHEPHERD:  Or is it the boss and some other people who work over here?

MR. KEECH:  No.  So thanks for clarifying that.  Your first scenario, it's just me that works over there.

MR. SHEPHERD:  Okay.  I am turning to 4 Staff 75, and you're talking about increasing FTEs.  So I am looking at the answer to (a) on page 2, and you say the increase in FTEs is a 2.5 percent increase, and that is below the inflation rate.  Help me with understanding how an increase in FTEs is relevant -- is related to the inflation rate.

[Witness panel confers]


MR. KEECH:  Sorry, could I get you to repeat the question again?  I was trying to make sure that I had answered your last question correctly here.  I apologize for that.

MR. SHEPHERD:  All right.  So 4 staff 75 page 2 says that:  "This" -- that is, the increase in FTEs -- "is a 2.5 percent increase, which is below the 3.3 percent inflation rate over that period."

I don't understand how FTE increases is related to inflation.  You don't add people because there is inflation, do you?

[Witness panel confers]


MR. JOYCE:  We believe that may be just an erroneous statement.

MR. SHEPHERD:  Okay.  I read it, and I thought am I'm missing something.  All right.

My next question is on 4 Staff 76, and you talked about this yesterday, the fact that this table of FTEs is not the -- is not all of the FTEs of Utilities Kingston.  These are only the ones that are providing service to the applicant; right?

And so if I understand correctly, you've got basically -- we could categorize the employees of U.K. into three categories:  ones that spend all of their time providing service to Utilities Kingston, ones spending none of their time, and ones that are in the middle that spend part of their time; right?

MR. KEECH:  Sorry, I think -- I'm not putting words in your mouth, but I think what you're saying is U.K. employees can be categorized into three categories:  one that spends all of the time doing Kingston Hydro work --


MR. SHEPHERD:  Yes.

MR. KEECH:  -- one that spends no time doing Kingston Hydro work -- water, sewer, whatever -- and one that spends a mixture of it.

MR. SHEPHERD:  Yes.

MR. KEECH:  Okay.

MR. SHEPHERD:  That's right?

MR. KEECH:  Yes.

MR. SHEPHERD:  And this is the only full- and part-time ones.  There is this whole other group of another, what, 175 employees or so, or 165?  You have 240; right?

MR. JOYCE:  About 120.

MR. SHEPHERD:  Oh, you only have 120.

MR. JOYCE:  No.  120 in addition.

MR. SHEPHERD:  Okay.  So there's these other 120 that provide no services.  They're gas fitters --


MR. JOYCE:  That's correct.

MR. SHEPHERD:  -- and they're plumbers, and people like that; right?  Okay.

So in this group of FTEs allocated to hydro, a significant portion of those are people that they only work for Kingston Hydro; right?

MR. JOYCE:  Essentially, yes.

MR. SHEPHERD:  Well, okay.  Let me unpack that.

Most of the unionized people would be Kingston Hydro only; right?

MR. KEECH:  So, if we're talking again of all of the unionized employees of Utilities Kingston --


MR. SHEPHERD:  No, no, sorry.  I am looking at this table.  I'm saying, in the middle table, these are the ones allocated to Kingston Hydro.


MR. KEECH:  Yes, yes.

MR. SHEPHERD:  All right.  On that union line, most of that is going to be people who 100 percent are Kingston Hydro, because they're electricians and their linemen and people like that; right?

MR. KEECH:  So we would have -- so in Mr. Joyce's group, we have the linemen, the cable guys.  The station guys would be basically Kingston Hydro.

Our engineering techs, some of them would be Kingston Hydro; some of them could work part-time for Kingston Hydro, part-time for the water and sewer group.

Our billing clerks, which are unionized, would be split amongst the four services that we provide.  The receptionists are the same type of thing.

MR. SHEPHERD:  Sure.  And they're all unionized?

MR. KEECH:  So the types of people that I have just tried to touch on --


MR. SHEPHERD:  Yes.

MR. KEECH:  -- are all -- I think I might have said engineer.  The engineer is not unionized.

MR. SHEPHERD:  All right.  They all work together in the same place basically; right?

MR. KEECH:  Basically.  I mean, we have our head office on John Conner Boulevard where most of the people work out of, yes.

MR. SHEPHERD:  Yes.  All right.

MR. KEECH:  Is your -- I just want to make sure I answered the question.  When you say "place", are you saying physical location or the same company?

MR. SHEPHERD:  No, no, physical location.

MR. KEECH:  So most of us do, but we do have some remote locations.

Now, most of the electric people are out of that location.  But we have water plants; we have sewage plants, that type of stuff that are manned.

MR. SHEPHERD:  What I am actually driving at is that you don't have a building full of Kingston Hydro people that that's all they do.

MR. KEECH:  No.

MR. SHEPHERD:  It's all in Utilities Kingston, and the gas people and the electric people are all in the same place?

MR. KEECH:  Yes.

MR. SHEPHERD:  All right.  What I am trying to get at here is that, with the people that are full-time for hydro, it is relatively easy to figure out what the cost is that should be allocated to the utility, and it is relatively easy to figure out that it should be allocated because that is all they do; right?

But it is a different story for people who spend part of their time working for the utility, and part of their time working for -- then you have to allocate; you have to find some way to make it fair; right?

MR. KEECH:  Correct.

MR. SHEPHERD:  And so I am trying to get a sense of, you know, how big this breadbox is, whether it is -- whether you have sort of 30 of these 50 that it is no problem because they're full-time at the utility or whether it is 10, because it makes a big difference to the size of the problem, the application problem.

MR. KEECH:  So I am not agreeing with you there is a problem, but, yes, it makes a difference.

MR. SHEPHERD:  Do you have an idea of how many that full-time number is?  I don't need an accurate number, just a sense of how big.

[Witness panel confers]


MR. KEECH:  Sorry, we're in debate as to what your actual question is.  Could I get you to repeat the question?  I think we -- I just want to make sure that we're answering the exact question.

MR. SHEPHERD:  Okay.  In that middle section, see there, the --


MR. KEECH:  Yes.

MR. SHEPHERD:  -- FTEs allocated to hydro.  How many of those, roughly, are full-time FTEs working for hydro?

MR. KEECH:  So this is where -- so full-time FTEs were -- 98 percent of what they do is just hydro stuff.  Basically that is what they're doing.

MR. SHEPHERD:  Yes, that is all they do.

MR. KEECH:  Yes.  So approximately 30.

MR. SHEPHERD:  Thirty out of --


MR. KEECH:  Approximately.  Again, that is an approximation.  It's not -- we haven't gone through here person by person.

MR. SHEPHERD:  That's fine.  It's whether it is 30 or 10, not whether it is 30 or 31.

So on those ones, what Kingston Hydro is paying is the loaded cost, as you talked about; right?

MR. KEECH:  Yes.

MR. SHEPHERD:  And it's -- basically it's cost plus typically 40 or 50 percent, like salary plus 40 or 50 percent.

MR. KEECH:  Yes, I think it is around about 40.  Yes.  But, I mean, we're talking approximately, yes.  So if it's -- if they're making 100 bucks an hour, it is approximately 140 bucks, what it would be.

MR. SHEPHERD:  All right.  My next question is on that same interrogatory response but the next page, and I am just using this as an example.  It is actually throughout the evidence -- you say things like Kingston Hydro is able to forecast attrition rates.  The applicant believes such and such.  Kingston Hydro's attrition rate is historically low.  There is a bunch of statements like that in that paragraph, and it is throughout the application.

In every case -- you don't have any employees.  So in every case, that is actually Utilities Kingston that we're talking about, isn't it?  Because Kingston Hydro doesn't actually forecast anything.

MR. KEECH:  Yes.  Well, so, yes, these -- these employees are employed by Utilities Kingston.

MR. SHEPHERD:  So when it says, "The applicant believes for some positions it is beneficial to hire in advance," that is really Utilities Kingston who believes that?

MR. KEECH:  Yes.

MR. SHEPHERD:  Yes.  Okay.

Now, next I want to ask about 4 Staff 81.  This is the OPEB stuff.  And I have a couple of questions on this.  I am on page 3 of 4 of the response -- or actually, the beginning of the response part.  Wrong question.

And so when Utilities Kingston, for example, accrues OPEBs, that's then charged to Kingston Hydro; right?

MR. KEECH:  Yes.

MR. SHEPHERD:  Kingston Hydro doesn't actually pay it, because it is only accrued.  So Kingston Hydro accrues it at that point; right?

MR. MURPHY:  That's correct.

MR. SHEPHERD:  But it's treated as a debt to Utilities Kingston?

MR. MURPHY:  Yes.

MR. SHEPHERD:  It's not a contingent liability as you -- if it were OPEBs, it would show as one type of accounting thing.  But it's not; right?  It is a debt to U.K.?

MR. MURPHY:  Kingston Hydro has a debt to U.K. for the amount, yes.

MR. SHEPHERD:  And that debt is dependent on what U.K. actually has to pay out in OPEBs?  It trues up on a regular basis?  Because I didn't see that in the service agreement.  That is why I am asking.

MR. MURPHY:  Yes.  So the service agreement states that Kingston Hydro is responsible for all expenses that Utilities Kingston incurs to operate the hydro utility.  So part of the expenses is the accrual for the employees for OPEB.

MR. SHEPHERD:  Right.  So if you take a look at 2014, if you look at the top of this page, 2014, U.K. accrued 74,683 in OPEB for people allocated to you, but only paid 28.  So you recorded in your books 46,510 owing to UK because that was their accrual as an expense; right?

MR. MURPHY:  Yes.  So the chart here is Kingston Hydro's chart.

MR. SHEPHERD:  All right.  And so, then, that 46,510, what happens if the amount they pay out is different?  Because it is going to be different; right?

MR. MURPHY:  That's trued up at the end of the following year when we get the actuarial report.

MR. SHEPHERD:  Where does it say that in the service agreement?  I didn't see that anywhere.

MR. MURPHY:  The service agreement states that all expenses incurred to operate the utility on behalf of Kingston Hydro, Kingston Hydro is responsible for.

MR. SHEPHERD:  Exactly.  So the expense is 74,683.  From an accounting point of view, that's done.  So where is the true-up?

MR. MURPHY:  The true-up is in the -- so this chart here is as if Kingston Hydro had the employees themselves.

MR. SHEPHERD:  I'm sorry.  I don't understand.  We're talking about how much U.K. is accruing and how much you owe them.

MR. MURPHY:  So this --


MR. SHEPHERD:  You actually paid them the 28,173; right?

MR. MURPHY:  Yes.  This chart is not U.K.  It is Kingston Hydro's chart.

MR. SHEPHERD:  All right.

MR. MURPHY:  It is taken from the notes to the statements of Kingston Hydro.

MR. SHEPHERD:  All right.  But I thought you just said that all you're doing is mapping the UK costs, aren't you?

MR. MURPHY:  Yes.  So like any other -- like the other expenses we've talked about, these are no different than any of the other expenses.  So Kingston Hydro pays and accrues as expenses its portion.

MR. SHEPHERD:  Understood.  So once you accrue that amount owing, then you owe it; right?

MR. MURPHY:  Yes.

MR. SHEPHERD:  It's done.  I don't understand where the true-up is.  I don't get that.

MR. MURPHY:  So, sorry, the true-up may have been the wrong term.  But -- so the amount is accrued for Kingston Hydro employees, and then the amounts paid during the year, Kingston Hydro then pays its portion of the amounts paid.

MR. SHEPHERD:  All right.  Am I right that none of this is allocated to capital?

MR. MURPHY:  Correct.

MR. SHEPHERD:  And how can you do that from an accounting point of view?  That would be wrong from an accounting point of view, isn't it?

MR. MURPHY:  It's not directly -- so these expenses, you know, are not directly attributable.  Like I said yesterday, they come in at the end of the year with the actuarial, and it is the end-of-year entry that is done as part of the audit --


MR. SHEPHERD:  It's the cost of somebody who worked on capital projects.  Isn't that a capital cost?

MR. MURPHY:  Again, you can get into direct or indirect or overhead, but we've always done OM&A for all of our expenses like this.

MR. SHEPHERD:  All right.  And why is it that you are accruing the -- never mind.  I won't ask that question.

On the next page, you say the amount included in rates is the expense; it is not the actual amount included in rates.  Is that just because the -- your rates are not set every year, so --


MR. MURPHY:  Yes.

MR. SHEPHERD:  Okay.  So if your rates were set every year, then you would be charging the actuarial cost to ratepayers?

MR. MURPHY:  Correct.

MR. SHEPHERD:  All right.  Is it possible for you to identify what you included in rates in 2011 and what you have actually -- what was actually paid out?

MR. MURPHY:  No, it isn't.

MR. SHEPHERD:  Why not?

MR. MURPHY:  We don't have -- like, again, we have got the envelope approach.  We don't have the information of what's included in rates.  So, you know, we have the actuals here, which we provide every year, but as far as -- as far as how it is related to the revenues for ratepayers, we don't have that.

MR. SHEPHERD:  You had an OM&A budget.  You included OPEBs; right?

MR. MURPHY:  Yes.  Yes.  And it was adjusted.

MR. SHEPHERD:  It was adjusted by about 10 percent.

MR. MURPHY:  Yes.

MR. SHEPHERD:  So what were the OPEBs that was included in the budget?

MR. MURPHY:  I don't know.

MR. SHEPHERD:  Can you undertake to provide it?

MR. MURPHY:  I don't know if I can get that information.

MR. SHEPHERD:  Why not?

MR. MURPHY:  So I'm not understanding -- so we are back to the 2011 budget; correct?

MR. SHEPHERD:  Yes.  The amount -- you asked for $7 dollars, roughly, and you ended up getting 6.3 or 6.2.

MR. MURPHY:  Correct.

MR. SHEPHERD:  And in that $7 million was an amount for OPEBs.  That is the only number we have, right, because you haven't allocated the $700,000 anywhere? But we do have the original amount; right?

MR. MURPHY:  Yes.

MR. SHEPHERD:  And you have that?

MR. MURPHY:  Yes.

MR. SHEPHERD:  Can you undertake to provide it?

MR. MURPHY:  I will try to undertake to get that information.

MR. SHEPHERD:  Great.

MR. MILLAR:  JT2.4. 
UNDERTAKING NO. JT2.4:  TO PROVIDE THE ORIGINAL AMOUNT FOR OPEBs

MR. SHEPHERD:  Now, you were asked, "Well, what happens to the extra money?"  So you collect in rates an amount based on accrual; right?

MR. MURPHY:  Are we still on the same IR?

MR. SHEPHERD:  Oh, yeah.

MR. MURPHY:  Okay.

MR. SHEPHERD:  So you collect in rates an amount based on the accrual; right?

MR. MURPHY:  Our expenses every year are based on accruals.

MR. SHEPHERD:  I am asking about OPEBs.

MR. MURPHY:  Correct.

MR. SHEPHERD:  Okay.  And so you collect more than you have to pay out to Utilities Kingston every year; right?

MR. MURPHY:  It would depend on the year.  It is an actuarial calculation every year.  So, historically, if the chart's there, the expenses are more than the payouts.  That is why the liability is increasing.

MR. SHEPHERD:  Okay.  So what do you do with the money?

MR. MURPHY:  We don't pay it.  Kingston Hydro doesn't pay it.

MR. SHEPHERD:  So you collect it from ratepayers, but you don't pay it to U.K.  So what do you do with it?

MR. MURPHY:  So we do what everyone else does in the industry, and I think that is why the Board is looking into this in a separate proceeding.  So we --


MR. SHEPHERD:  You didn't answer the question.  What do you do with the money?  This extra 50,000 or 100,000 a year that you collect, what do you do with it?

MR. MURPHY:  It would be sitting in our bank account.

MR. SHEPHERD:  Okay.  Thank you.  Well, actually, sitting in the city's bank account; right?

MR. MURPHY:  But the money is ours.

MR. SHEPHERD:  Yes.  Okay.

So my next question is 4 Energy Probe 25.  And you increase the miscellaneous line in your OM&A budget by $200,000, and when asked about that -- this is in section (d) -- you said, well, we just put our whole inflationary increase in there.  Am I understanding that; right?

MR. MURPHY:  Yes.

MR. SHEPHERD:  So you haven't actually got a line item budget in your evidence for 2015, a forecast?

MR. MURPHY:  Yes, we do.

MR. SHEPHERD:  But the $200,000 isn't in each of the lines.

MR. MURPHY:  That's the 2016 increase.

MR. SHEPHERD:  Oh, sorry, the 2016 increase.  My apologies.  So you don't have a 2016 line item budget that has correct numbers?

MR. MURPHY:  I wouldn't agree with that statement.

MR. SHEPHERD:  Well, the 3 percent increase isn't in them, is it?

MR. MURPHY:  Yes, it is.

MR. SHEPHERD:  It's in the line items?

MR. MURPHY:  Yes, it is.

MR. SHEPHERD:  I thought it was in a separate line of other costs.

MR. MURPHY:  No.  It's throughout the evidence.  I think the table you're referring to is the cost driver table.

MR. SHEPHERD:  Oh, I see.  Okay.

MR. MURPHY:  Yes.

MR. SHEPHERD:  All right.

Then my next question is 4 Energy Probe27, and what I am -- I am looking at page 2.  It appears that what you're saying is that, from 2014 to 2015, your amount of capitalization was increased by 5.9 percent, which I take it is around $100,000.  Am I in the ballpark?

[Witness panel confers]


MR. MURPHY:  We're having difficulty finding the number that you're referring to.  Do you have a reference?

MR. SHEPHERD:  The number I'm referring to?  The $100,000?

MR. MURPHY:  Yes.  We are trying to find the point in the IR, the IR response.

MR. SHEPHERD:  Well, no.  The 5.9 percent, I'm estimating it is $100,000.  Is that not right?  I am trying to get a sense of how big a number we're talking about.

MR. KEECH:  We're having trouble locating what you're referring to.  Maybe we could get you to ask the question.

MR. SHEPHERD:  5.9 percent, it is right there, (c), reduction of 5.9 percent.

MR. KEECH:  Thank you.

MR. SHEPHERD:  5.9 percent of your total compensation is how much?

MR. JOYCE:  That would be approximately correct.

MR. SHEPHERD:  All right.  That's fine.  I understand that, from one year to the next, you would change how much you capitalize.  But that means that OM&A has gone down in 2015, right, relative to -- if you're comparing apples to apples in prior years, same people, $100,000 less in OM&A in 2015 because of the allocation change; right?

MR. JOYCE:  Correct.

MR. SHEPHERD:  Okay.  Sooner or later, those people are going to be put back on doing OM&A work, right, because they're interchangeable?  They can do OM&A or capital work at various times, depending on your priorities; right?

MR. JOYCE:  I think what we indicated in the response to this IR was some of those things will be somewhat more permanent.

So we had that, you know -- there was bad debt, for instance.  There is an administrative expenditure that doesn't involve FTEs in terms of that allocation.  Tree-trimming is another example of that, because we don't have the FTEs.  We noted that work by the engineering group is going to affect it, because they're going to be working more on capital work in the distribution system --


MR. SHEPHERD:  Sorry, back up.  How does tree-trimming affect this?

MR. JOYCE:  So the tree-trimming is another example where there is no corresponding labour associated with that work.

MR. SHEPHERD:  How is that relevant to the percentage of your compensation costs that are capitalized?

MR. JOYCE:  Because those employees are -- so we have an increase in the tree-trimming amount without any increase on the FTE.  So the total OM&A increases, but there is no change to the dollars on the salary side.

MR. SHEPHERD:  Oh, I see.  I understand.  Thank you.

MR. JOYCE:  Okay.

MR. SHEPHERD:  I just have a couple of more questions.  4 Energy Probe 30, this is on PILs, and you have allocated your ERM, CIS, and CRM software to system software.  I didn't understand that.  Why is that system software?  That sounds like application software to me.

MR. MURPHY:  So it is our view that the major systems like this is system software, and that's why we allocated it to class 50.

MR. SHEPHERD:  Did you get an external opinion on that?

MR. MURPHY:  No, we did not.

MR. SHEPHERD:  I used to be a tax lawyer, and these would all be application software to me.

MR. MURPHY:  I did review the CCA classes produced by the CRA, and we believe the class 50 is appropriate for these three projects.

MR. SHEPHERD:  Can you undertake to tell us what the impact on your PILs is of allocating them to application software instead of system software?

MR. MURPHY:  Just to make sure that I do this the way you would like, do you have CCA classes?

MR. SHEPHERD:  I think it is class 12.

MR. MURPHY:  Class 12 versus class 50?

MR. SHEPHERD:  Yes.

MR. MURPHY:  So you would like the -- if you can repeat what you are asking.

MR. SHEPHERD:  I would like the impact on PILs for the affected years of allocating those three pieces of software to class 12 instead of class 50.

MR. MURPHY:  Yes.

MR. MILLAR:  JT2.5. 
UNDERTAKING NO. JT2.5:  TO PROVIDE THE IMPACT ON PILS FOR THE AFFECTED YEARS OF ALLOCATING THOSE THREE PIECES OF SOFTWARE TO CLASS 12 INSTEAD OF CLASS 50

MR. SHEPHERD:  Next is 4 SEC 19, attachment 1.  What I want to do is I want to just understand the table.  And if you take a look at 2016, the part of the table that is 2016, am I reading this right that if I look at -- let's say IS; right?  That is information services; right?

MS. TAYLOR:  Yes.

MR. SHEPHERD:  Okay.  If I look at IS, if I add those across, I get $2.6 million, roughly.  That is the total City of Kingston budget for IS.  Is that right?

[Witness panel confers]


MS. TAYLOR:  I believe there is a typographical error in the first column.  I believe that should state City of Kingston cost allocated to Utilities Kingston.  And then the others are, from there, which businesses they further get allocated out.  So the 1.2 million refers to the cost allocated by the city to Utilities Kingston.

MR. SHEPHERD:  We asked you the total City of Kingston cost allocated to Utilities Kingston and the total cost incurred by the City of Kingston in that category.  So you haven't answered that.  You have only answered the sub-component.  Is that right?

MR. KEECH:  Yes, that's correct.

MR. SHEPHERD:  I just want to look at -- I was accepting it at face value, and I thought that was the whole City of Kingston cost.

So did you notify us of that error?

MR. KEECH:  Sorry, which error?

MR. SHEPHERD:  The error in the labelling of the first column.

MR. MURPHY:  Hang on.  We need a minute.

[Witness panel confers]


MS. TAYLOR:  Just to clarify, the answer to 4 SEC 19 (a) was actually provided in the evidence, as it states at Exhibit 4, tab 3, Schedule 3.

MR. SHEPHERD:  Well, it's actually -- you can calculate it.  It's not actually provided.  I am just looking at it right now.

MS. TAYLOR:  No.  The amounts that -- I believe the total amounts in answer to the question (a) is provided in our evidence.

MR. SHEPHERD:  Yeah.  And I am looking at it right now.  It's not.

MS. TAYLOR:  Okay.

MR. SHEPHERD:  So what you have now, I understand.  So what you have is that 1,297,484 that you see there in 2016; right?  That is actually 16 percent of the City of Kingston budget.  That is what you have told us.  So then you haven't actually told us what those numbers are for the previous year.  So the request we asked, you haven't provided.

MR. KEECH:  We just need a minute, if we could.

[Witness panel confers]


MS. TAYLOR:  Yes, you're correct.  The information that's been provided is for 2016.

MR. SHEPHERD:  Okay.  So I am going to ask you, then, to give us the answer to this question, add the column that we asked for, which is the column that shows total City of Kingston budget for the year, for that year for that item.

MS. TAYLOR:  Can you --


MR. SHEPHERD:  You have only done that for 2016.

MS. TAYLOR:  Can you clarify what year you're referring to?

MR. SHEPHERD:  All of the years here.  The whole point was to ask about what's the -- how is the share that the utility is paying changing?

[Witness panel confers]


MR. KEECH:  So our understanding of the question is you're looking for the total City of Kingston budget for the services listed on the chart that is here.

MR. SHEPHERD:  Yes.  So you actually filed this chart in your evidence, and we're asking for these two additional columns.

MR. KEECH:  For the years that are shown here?

MR. SHEPHERD:  Yes.

MR. KEECH:  So we will attempt to -- again, because we've got to go to the City of Kingston to get this, it is not quite at our fingertips, but we will attempt to provide that information, yes.

MR. SHEPHERD:  Okay.  I would have thought you'd know this.  When they say, "By the way, we're going to charge you $1.3 million for information services," I would assume that you would know how much of your budget -- their budget you are paying, wouldn't you?

MR. KEECH:  Not necessarily, because I don't think all the -- I will leave it at that, not necessarily.  And we will attempt to provide that.

MR. SHEPHERD:  Okay.

MR. MILLAR:  The undertaking is JT2.6. 
UNDERTAKING NO. JT2.6:  RE:  THE CHART FILED IN EVIDENCE, TO PROVIDE THE TWO ADDITIONAL COLUMNS REQUESTED

MR. SHEPHERD:  So just, I want to be clear on what we are looking for here.  If you take a look at this 2016 box, you see that 1,297,484?

MR. KEECH:  Yes.

MR. SHEPHERD:  Right?  So we know, because you have given us 2016, that that is 16 percent of the total so that the total budget for City of Kingston for that had to be $8.1 million.

MR. KEECH:  Yes.

MR. SHEPHERD:  Just gross amount; right?  So that's what we're looking for, for all these numbers.

MR. KEECH:  So yes.  So you are looking for the total city amount for all these -- for the years listed so you can -- or I guess we can provide the percentage that we pay.

MR. SHEPHERD:  Well, we can calculate the percentage.  What I am really -- I am trying to figure out whether you're covering more or less of the cost over time.

MR. KEECH:  Yes, understood now.  Thank you.

MR. SHEPHERD:  All right.  This one you already answered.

And that is all my questions.  Thank you.

MR. MILLAR:  Thank you, Mr. Shepherd.

Anyone left with questions for -- on Exhibit 4?  Mr. Harper?

MR. HARPER:  Yes.  I just had one question, and it had to do with 4 VECC 33.
Examination by Mr. Harper:

MR. HARPER:  This is with reference to the -- your 2011 to 2014 LRAM claim, which is addressed in Exhibit 4.

In the calculations you provided for the actual dollar value for demand billed customers, you multiplied the verified kilowatt hours by five, assuming there were five months in which the demand savings were in effect.  And that was, I assume -- there was a statement in the material that stated OPA-verified demand savings are defined from May through September.  And I was just wondering if you could point me to a specific reference in the OPA document that supported that.

I know you're filing one of the OPA reports as part of JT1.16, and if it happens to be in there, can you just point me where it is, or if it's not in there, give me another reference?  If it's in that document, just when you file the document, if you could just highlight where it is in that document, that would be great.  I just -- I never picked up that point before reading it through.

MR. MILLER:  Yes, it's in the document, and we will provide it.

MR. HARPER:  Thank you very much.  That is my only question on Exhibit 4.

MR. MILLAR:  So that was an undertaking.  That was an undertaking, if I heard it.  So it is JT2.7. 
UNDERTAKING NO. JT2.7:  TO POINT TO A SPECIFIC REFERENCE IN THE OPA REPORT THAT SUPPRTS THE REFERENCE TAT OPA-VERIFIED DEMAND SAVINGS ARE DEFINED FROM MAY THROUGH SEPTEMBER

MR. HARPER:  Yes.

MR. MILLAR:  Okay.  Thank you, Mr. Harper.  We have a couple of questions from Staff.
Examination by Mr. Davitt:

MR. DAVITT:  Good morning.  My name is Shawn Davitt.  I am a member of the OEB Board; I am a project adviser.

I just have a few questions on Staff interrogatory 4 Staff 81.  It is the OPEBs issue again.

So our first question is it is our understanding that Kingston is a virtual utility, meaning it has no employees.  And then we looked on the 2014 financial statements, and we notice that you have accrued OPEBs liabilities.

Could you explain why you are accruing for these OPEBs, given that they're not really liabilities of that legal entity?

MR. MURPHY:  They are legal liabilities of that entity per the service agreement with the Utilities Kingston.

MR. DAVITT:  Is there a particular clause in the service agreement you could point me to?  We did receive a copy of the updated agreement, and I was hoping to see the language had changed to add that piece, but I don't see it.

MR. MURPHY:  I am not -- I don't have the agreement in front of me.  I believe it's the clause where it states that Kingston Hydro is responsible for all expenses.

MR. DAVITT:  Right.  The term of the agreement -- it expires on September 16, 2017, but the OPEBs liabilities would likely extend decades beyond that.  So I am sort of troubled by what is in the financial statements.  Could you just talk around what your thinking is on accruing for that?

MR. MURPHY:  So the -- what we're trying to do here, like we do for all of our expenses, is to ensure that Kingston Hydro is properly allocated and charged all expenses.  And this would include all employee costs for those employees that work on Kingston Hydro business.

So similar to all of the other expenses, these expenses are attributable to the Kingston Hydro Corporation, and the accounting treatment for Kingston Hydro is exactly the same as it would be for Utilities Kingston.

So what we're trying to do is to show the liability and the expenses for these amounts as they relate to the Kingston Hydro people.

MR. SHEPHERD:  Can I follow up on that?

MR. DAVITT:  Sure.

MR. SHEPHERD:  I asked you about this, and I asked you whether it was showed as an accrual.  And you said, no, it is a debt to Utilities Kingston.

MR. MURPHY:  So we accrue the expense, and the other side of the accounting entry is owing to Utilities Kingston.

MR. SHEPHERD:  All right.  Thanks.  So it doesn't show on your balance sheet as an OPEB obligation.  It shows as a debt to Utilities Kingston, and it shows on your income statement as an OPEB expense?

MR. MURPHY:  I believe, on the balance sheet, it shows as future benefit liabilities or -- it's actually identified separately on the balance sheet.

MR. SHEPHERD:  That is what I think Staff was asking is why is it showing as a benefit liability when it is not.  It's a debt to the Utilities Kingston; right?

MR. MURPHY:  So that would have to be a question I would have to pose to our auditors, why.

MR. SHEPHERD:  Is it included in your affiliate debt?

MR. MURPHY:  No.

MR. SHEPHERD:  Thank you.

MR. DAVITT:  Maybe just to follow up on where Jay was, and this was sort of just a repetition of think of what Jay was -- I just wanted to clarify.  My understanding, based on the chart that is further down in the interrogatory, is that there is a cash amount and an accrual amount.  What is the amount that gets invoiced by the city to the utility?  Is it the cash amount or is it the accrual amount?  I just want to clarify that.

MR. MURPHY:  So the city -- the city isn't involved in this at all.

MR. DAVITT:  I'm sorry.  Utilities Kingston and Kingston Hydro are the two affiliates?

MR. MURPHY:  Yes, yes.

MR. DAVITT:  Right.  So what is the invoice from Utilities Kingston to Kingston Hydro?  Is it the cash amount or the accrual amount?

MR. MURPHY:  So we accrue the amount.  So, for instance, in 2014, we accrue the amount of 74,683, and then we increase the owing to Utilities Kingston by that amount.  And then Kingston Hydro's portion of the paid benefit amounts in that year would be 28,000.

So then we would lower the liability when we pay the amount to Utilities Kingston for the amount that it's paid out in the year.

MR. DAVITT:  So if there was an invoice being created for, "Please pay this amount," it is the cash amount?

MR. MURPHY:  Yes.  So the actual dollars that go are the cash amount that is paid out.

MR. DAVITT:  Please, go ahead.

MR. SHEPHERD:  The invoice they invoice you is for the amount you have to pay them eventually, right, which is the accrual amount?

MR. MURPHY:  Yes.  It's a journal entry that is done as we do -- when we get the actuarial report, the expense is recorded for the accrual.  Owing to Utilities Kingston is the other side of that entry.

MR. SHEPHERD:  Do you pay HST on that?

MR. MURPHY:  No.  And then the other side of the entry is owing to Utilities Kingston, is debited, and cash is credited for the actual amount that they've paid in the year for Kingston Hydro employees.


MR. SHEPHERD:  Why is that not subject to HST?

MR. MURPHY:  I don't know.

MR. SHEPHERD:  Thanks.

MR. DAVITT:  So if I'm understanding -- and I think I do now -- the accrual on the financial statements reports it as another employment liability more for convenience to sort of show the nature of it.  But if we were really to dig into this, it's really an inter-affiliate payable amount due to Utilities Kingston?

MR. MURPHY:  Yes.

MR. DAVITT:  Okay.  Thanks.

I want to refer to the table on page 3 of 4 in the same --


Generally, it is our experience that the amounts paid are less than the accrual, and that's what you have shown for the years 2012, 2013, and 2014.  So that makes sense to us.

But for the prior year, the amount paid exceeds the amount accrued.  We are just trying to understand why that would be.

MR. MURPHY:  Yes.  I believe in 2010 or 2011, the amount paid was -- there was an extra amount paid to Utilities Kingston of $200,000.

MR. DAVITT:  And is there a reason for that payment?

MR. MURPHY:  The idea at the time was to try to reduce this amount.  But then, in thinking about it, there is no benefit to Kingston Hydro to do that.  So we didn't do it anymore.

MR. SHEPHERD:  Did you get the $200,000 back?

MR. MURPHY:  No.  It's -- so the liability that is shown on the balance sheet includes the $200,000 that was paid.

MR. SHEPHERD:  So you didn't owe them the $200,000; right?  You weren't required to pay it; you just did.

MR. MURPHY:  No, no, we weren't.

MR. SHEPHERD:  Why didn't you get it back?  I don't understand.

MR. MURPHY:  We didn't.

MR. SHEPHERD:  You don't know why?

MR. MURPHY:  No.

MR. DAVITT:  I have two more questions.  I think you have answered the first one.

Forecasting the OPEBs expenses in the future, is there a forecast available, or should we just rely on the 3 percent that you provided as your general forecast?

MR. MURPHY:  The forecast was -- all we did was take the net amount and increase it by inflation.

MR. DAVITT:  Okay.  That would be for both the payments and any expenses?

MR. MURPHY:  Yes.

MR. DAVITT:  Okay.  And the last question is -- I think is something we have already addressed.  So there is a surplus cash, and it is really this untraceable cash where you've got a revenue recovery, but you haven't necessarily funded the benefits yet.  That pot of cash would be sitting in Kingston Hydro's bank account, not Utilities Kingston?

MR. MURPHY:  Correct.

MR. DAVITT:  Okay.

MR. SHEPHERD:  I'm sorry.  Sorry to keep interrupting.

MR. DAVITT:  Please.

MR. SHEPHERD:  But didn't you tell me that it is actually in the City of Kingston bank account?

MR. MURPHY:  No.

MR. SHEPHERD:  I asked you that question.  The extra cash is --


MR. MURPHY:  To clarify, the amount is sitting in Kingston Hydro's -- so it is sitting in the "Due from City of Kingston" account on Kingston Hydro's balance sheet.

MR. SHEPHERD:  So --


MR. MURPHY:  Which we -- which we use as our cash account.  So it is in our cash account.

MR. SHEPHERD:  The bank account it is in is the City of Kingston's bank account.

MR. MURPHY:  Correct.  Then it flows through as due from city for us, which we get interest on.

MR. MILLAR:  Okay.  I think that concludes tab 4.  Let's take our morning break and come back at 11:05 a.m.
--- Recess taken at 10:52 a.m.
--- On resuming at 11:05 a.m.


MR. MILLAR 1:  Welcome back, everyone.  We're moving on now to Exhibit 5.  Staff has questions.  Does anyone else have questions under this exhibit? 


MR. AIKEN:  Yes, I do. 


MR. MILLAR:  Randy, do you want to go? 


MR. AIKEN:  Sure. 
EXHIBIT 5 QUESTIONS
Examination by Mr. Aiken: 

My first question is on the response to 5-Staff 83.  In part (d) of the question, Staff asked why Kingston Hydro should not update its debt portfolio annually in conjunction with the annual cost of capital parameter update.  And the response given to part (d) does not answer that question.  The response says what you've asked for, but it doesn't say why. 


So my question is:  Why should the long-term debt rates not be updated each year at the same time that the short-term debt rate and the return on equity are updated under your proposal? 


MR. MURPHY:  It's Randy Murphy, Randy.  The answer to the question is what we were trying to do is keep our intervening years, 2017 to 2020, as mechanistic as possible. 


And the Board issues the nine -- their return on equity and short-term debt rate every year.  And the thought for us was that, if we could just lock in the long-term debt rate, then that would be one less mechanistic adjustment. 


MR. AIKEN:  But you agree they also issue a deemed long-term debt rate each year? 


MR. MURPHY:  Yes, they do.


MR. AIKEN:   If you could turn to 5 Energy Probe 34 and 35, my questions are on the combination of those two.


The response to part (a) of the first one, 34, says that -- the response says: "Kingston Hydro has requested for the long-term debt rate to be approved for those debt issuances in 2017-2020 based on the OEB deemed debt rate in effect as of April 25, 2015."


And then in the response to part (a) of Energy Probe 35, it says:  "Kingston proposes to update rates for new debt, if available." 


So I take it that, given that you are going to be waiting for the short-term and long-term debt rates to be issued this fall for 2016 by the Board, that the new long-term debt rate will also be available. 


MR. MURPHY:  Yes.


MR. AIKEN:  So my question is:  You're not really asking for the April 25th rates to be used, but the rates that would be issued this fall to be used? 


MR. MURPHY:  Yes.  So the application was based on the April rates.  And if new rates are available, we would update them then before the proceeding is over. 


MR. AIKEN:  And you agree the proceeding won't be over until the Board issues its ROE, probably in November? 


MR. MURPHY:  I'm not sure I can agree with that statement, because I don't know the timelines for the remaining -- the rest of the proceeding.  I think I only --


MR. AIKEN:  Well, you agree you won't have a draft rate order that reflects an unknown ROE until the Board issues a ROE?  In other words, you won't be able to do a draft rate order to ask the Board to approve final rates until you know what your ROE is going to be. 


MR. MURPHY:  Again, I think it depends on timing, and I can't comment on the timing.  I think all I know at this point is there is a settlement conference scheduled for sometime in October, and I don't think there is any dates after that that have been released in a procedural order. 


So, you know, if the draft rate order is drafted prior to the Board updating its ROE parameters, then I guess I can't agree with your statement.


But if it is after the Board updates its ROE, then, yes, I do agree with your statement. 


MR. AIKEN:  Then what ROE are you asking for in this application? 


MR. MURPHY:  Well --


MR. AIKEN:  Are you asking for the number that is built into your assumptions now, or are you asking for the Board's number that will get issued later this fall? 


MR. MURPHY:  So we would be -- if there is a new ROE available, we would be asking for that number.  If there is an update prior to the end of our proceeding, we would ask for the new ROE. 


MR. AIKEN:  Okay.  Then in the response to part (b) of No. 35, you have updated the infrastructure Ontario rate to 3.61 percent.  Is that for a serial or amortizer loan?


MR. MURPHY:  That is for an amortizer.


MR. AIKEN:  Amortizer, okay.  Thank you. 


In 5 Energy Probe 36, the response to part (a) indicates that the Board's deemed long-term debt rate when the amended promissory note was signed on November 28, 2012 was 4.41 percent.  Can you confirm that that figure of 4.41 percent comes from the March 2, 2012 letter that the Board released regarding the cost of capital parameters for cost-of-service applications effective May 1, 2012? 


MR. MURPHY:  I don't have that information in front of me. 


MR. AIKEN:  Okay.  The response to part (a) indicates that Kingston Hydro has not calculated the savings that could be achieved by replacing the affiliate debt with third-party debt at lower rates.


Mr. Shepherd touched on this yesterday, but my question is:  Has Kingston Hydro approached, or been approached, by any third party to see what rate it could obtain if it were looking to replace all or some of the $10.9 million debt with the city? 


MR. MURPHY:  No, we have not done that in recent past. 


MR. AIKEN:  What is the definition of recent past? 


MR. MURPHY:  We did prior to our last cost of service.  But since our decision, we have not. 


MR. AIKEN:  Okay.  Thank you.  Those are my questions on Exhibit 5. 


MS. ARMSTRONG:  Okay.  Thanks.

Examination by Ms. Armstrong:

MS. ARMSTRONG:  Randy pretty much asked most of my questions, so I will make this short. 


Your response to 5 Staff 82, I had asked you why the long-term debt rate, the affiliated debt, would not be updated for the current long-term debt rate, given that the debt is callable in the test year period.  You didn't really answer that question.  You just told me what you are applying, which I already know.


What I would like to know is why you're not applying the current deemed long-term debt rate to that affiliated debt. 


MR. MURPHY:  So the reason we're not applying for the current deemed long-term debt rate is that our promissory note is at 5.7 percent, and that is the rate that we're paying, and that is the rate that we are planning to pay during the 2016 to 2020 period.  So that is why we didn't update to the new rate. 


MS. ARMSTRONG:  Now, this is a callable debt; right?  Because the promissory note could be called technically within the 366 days that is the test year. 


MR. MURPHY:  Yes.


MS. ARMSTRONG:  Is that correct? 


MR. MURPHY:  Yes.


MS. ARMSTRONG:  The Board's policy states that, if the debt is callable, that you should apply the deemed long-term debt rate. 


MR. TAYLOR:  Birgit, you are kind of getting into argument right now.  I am not really sure what more you need.  He said it is callable -- 


MS. ARMSTRONG:  I just want to confirm it is callable, and we will leave it at that.


MR. TAYLOR:  I think he has already confirmed that.


MR. SHEPHERD:  Sorry, I have a follow-up question then, because I don't think it is argument. 


Why do you think it complies with Board policy, or are you asking the Board to not apply their policy?  I am allowed to ask that. 


MR. TAYLOR:  No, actually, I don't think you are allowed to ask that.


MR. SHEPHERD:  I am allowed to ask what you are asking for in the application.  If you are asking for policy not to apply --


MR. TAYLOR:  You are asking why, and he is not saying that -- he's told you exactly what he's done.  If you disagree with it, then you are welcome to dispute it. 


MR. SHEPHERD:  That's not what I am asking.  What I'm asking is:  Are you asking for the policy not to be applied?  It is a simple question.  It is about what your approvals are.  MR. TAYLOR:  Well, I disagree with you.  I think this is a technical conference.  Okay?  And technically he has told you what his answer was.  He has agreed that it is callable.  He understands there is a Board policy.  If you disagree with him, you have an opportunity --


MR. SHEPHERD:  You don't know what we're disagreeing with.  We don't know whether he has an interpretation that says the policy -- if you apply the policy, we get 5.87, or whether he's saying, no, the policy shouldn't apply in this case.  We are entitled to know that, aren't we?


MR. TAYLOR:  I would disagree with you.


MR. SHEPHERD:  All right.  Refusal.


MS. ARMSTRONG:  I actually think Mr. Murphy has not agreed yet that this is the Board policy or acknowledged that this is Board policy, so if you could do that, then we can leave it at that.


MR. MURPHY:  So I can undertake to provide to do that.  I don't have the Board policy in front of me on that.  So I can undertake to go and look at Board policy and answer your question. 


MS. ARMSTRONG:  Okay.  Thank you.  And that is all of my questions on Exhibit 5. 


MR. MILLAR:  That is JT2.8. 

UNDERTAKING NO. JT2.8:  FOR MR. MURPHY TO AGREE OR NOT WHETHER THIS IS THE BOARD POLICY OR ACKNOWLEDGED THAT THIS IS BOARD POLICY


MR. MILLAR:  Does anyone else have questions under Exhibit 5? 


I don't think there is anything under 6, so people --


MR. AIKEN:  Yes, there is.


MR. MILLAR:  Oh, there is.  Here we go, Mr. Aiken. 

EXHIBIT 6 QUESTIONS
Examination by Mr. Aiken: 


MR. AIKEN:  6 Energy Probe 37.  I guess before I even get into this, I would like an undertaking that, if there are any further changes due to the responses to the -- throughout the technical conference, that the revenue requirement work forms for 2016 through '20 would be updated to reflect any such changes. 


MR. MURPHY:  So just a point of clarification.  What do you mean by "changes"? 


MR. AIKEN:  Well, just like you filed new revenue requirement work forms for changes you made through the interrogatory process. 


MR. MURPHY:  Okay. 


MR. AIKEN:  A change in the load forecast, change in the CCA, if there is anything, you know, that came out of the technical conference where you are now changing a number, then we need -- we need the updated revenue requirement work forms. 


MR. MURPHY:  Yes. 


MR. MILLAR:  JT2.9. 

UNDERTAKING NO. JT2.9:  IF THERE ARE ANY FURTHER CHANGES DUE TO THE RESPONSES THROUGHOUT THE TECHNICAL CONFERENCE, THAT THE REVENUE-REQUIREMENT WORK FORMS FOR 2016 THROUGH '20 WOULD BE UPDATED TO REFLECT ANY SUCH CHANGE. 


MR. AIKEN:  So my questions going forward now are based on the revenue requirement work forms from the interrogatory response.  I think it was Staff number 3.  And I am looking at the 2016 revenue requirement work form, and specifically on the revenue deficiency/sufficiency page, at the distribution revenue at current approved rates, and I am in the middle set of columns in the application update.  So the figure there is 11,378,402.  And I want to confirm that that number is based on the updated 2016 volume and customer forecast at current 2015 rates. 


MR. MURPHY:  Yes.  Yes, it is. 


MR. AIKEN:  Okay.  Then when I go to the 2017 work form, same page, same column, I again see the same number, 11,378,402.  So again, can you confirm that, even though this is 2017, it is still based on 2016 volume and customer forecasts and 2015 rates?  In other words, nothing has changed. 


MR. MURPHY:  Yes.  Nothing has changed. 


MR. AIKEN:  And this is the case in 2018 through 2020 as well.  The revenue number does not change? 


MR. MURPHY:  Subject to check, yes. 


MR. AIKEN:  Okay.  Can you please provide in a live Excel spreadsheet that shows the calculation of the 11,378,402? 


MR. MURPHY:  Yes. 


MR. MILLAR:  JT2.10. 

UNDERTAKING NO. JT2.10:  TO PROVIDE IN A LIVE EXCEL SPREADSHEET THAT SHOWS THE CALCULATION OF THE 11,378,402 


MR. AIKEN:  Now, in the 2018, 19, and '20 spreadsheets, the revenue requirement work form, there appears to be an error in the same area.  I am again looking at the revenue deficiency/sufficiency spreadsheet and the middle set of columns, the application update. 


And unlike 2016 and '17, where the distribution revenue is the same under the "at current approved rates" and "at proposed rates," here the numbers are different.  The current approved rates are the 11,378,402 that we have just talked about.  But at proposed rates, it is 11,355,276. 


MR. MURPHY:  I see the difference --


MR. AIKEN:  So my question is:  Can you provide either these, or if you are doing new revenue requirement work forms from the previous undertaking, to make sure that these are done correctly so that these numbers are the same? 


MR. MURPHY:  Yes.  So just to clarify, the previous undertaking we will make sure that these are the same. 


MR. AIKEN:  Yes.  Okay. 


6 Energy Probe 38.  In part (a), I had asked:

"Please confirm that the 2017 through 2020 additional revenue deficiencies relative to previous years did not take into account changes in distribution revenues resulting from changes in customer and volume forecasts."

And the response says:

"The revenue deficiencies do take into account changes in distribution revenues resulting from changes in customer and volume forecasts."

And my question is:  Given that we've just agreed that the distribution revenues over all five years shown on the revenue requirement work forms are based on 2016 volumes and customers, how is that possible? 


MR. MURPHY:  So the revenue requirement that has been filed for each year, like, the total revenue requirement, base revenue and total service revenue, et cetera, they do -- that number does take into account the changes in customer and volume forecasts. 


MR. AIKEN:  I didn't ask about that.  I asked about the deficiencies that are calculated. 


MR. MURPHY:  Correct.  And the deficiencies that are calculated, I believe, are the difference between the 2015 number and the new requirement for each year; correct? 


So the answer to the question was referring to our base revenue requirement for each year and that it did take into account the changes in customer and volume forecasts. 


MR. AIKEN:  Okay.  But I asked about the deficiencies. 


MR. MURPHY:  Yes.


MR. AIKEN:  If you take the hypothetical situation -- and I think you will find out what I am driving at -- if your customer forecast didn't change between 2016 and 2020 and your volumes -- your kilowatt hours and your kilowatts dropped by 10 percent, would you agree that your deficiency in 2020 would be higher than if the volumes didn't drop? 


MR. MURPHY:  Yes. 


MR. AIKEN:  Okay.  And what I am asking for, then, is to provide a version of the five revenue requirement work forms that show the distribution revenue at current 2015 rates, but reflect your updated forecast for each year. 


MR. MURPHY:  So it's the --


MR. AIKEN:  Because right now we don't know -- we talked about the 8 point million dollar (sic) cumulative deficiency yesterday.  That does not reflect any impacts on the deficiencies over those five years of changes in your customer and load forecast.  Your cumulative deficiency could actually be higher because of your CDM activity. 


MR. MURPHY:  So --


MR. AIKEN:  Your volume forecast is going down over time.


MR. MURPHY:  So I guess just --


MR. AIKEN:  It is understated.


MR. MURPHY:  -- a point of clarification, then:  It is the same two columns that we just talked about prior to this that you would like updated for the new -- the new...


MR. AIKEN:  For the updated forecast.  I think there was an --


MR. MURPHY:  Yeah.


MR. AIKEN:  -- undertaking yesterday where you are going to provide the, you know, the tables -- I think it was 3 Energy Probe 15 -- that shows the revenue at current rates for each of the five years.  And that is the revenue that should be going in to each of these five revenue requirement work forms. 


MR. MURPHY:  So the current rates and then for each year with the updated customer and volume forecast? 


MR. AIKEN:  That's right.  Apply the 2015 to forecast for billing determinants for each year. 


MR. MURPHY:  Okay. 


MR. MILLAR:  So is that an undertaking? 


MR. MURPHY:  Yes. 


MR. MILLAR:  JT2.11. 

UNDERTAKING NO. JT2.11 (1):  TO PROVIDE A VERSION OF THE FIVE REVENUE REQUIREMENT WORK FORMS THAT SHOW THE DISTRIBUTION REVENUE AT CURRENT 2015 RATES, BUT REFLECT THE UPDATED FORECAST FOR EACH YEAR


MR. AIKEN:  And that finishes off Exhibit 6. 


MR. MURPHY:  Just one question and point of clarification before we leave:  So this would be the same sheet, then, that is done -- that I already agreed to do?  We're just clarifying the way it is going to be done.  Is that correct, Randy? 


MR. AIKEN:  Yes.  It would be the same sheets, and I am assuming it would not affect 2016.


MR. MURPHY:  Mm-hmm.


MR. AIKEN:  But for each year beyond that, instead of the 11,378,402, there would be a different distribution revenue of current rates in there that would reflect forecasts for 2017 through 2020.


MR. MURPHY:  Yes.  I just wanted to clarify that I am not providing 10 new -- 10 or 15 different Excel sheets.  I am just answering both of your concerns in the same --


MR. AIKEN:  Just everything in it.


MR. MURPHY:  That was my confirmation.  Thank you. 


MR. MILLAR:  Exhibit 7, who would like to begin? 

Examination by Mr. Harper:

MR. HARPER:  I can begin.  I have a couple of questions on that. 


The first one, if you could turn to 7 Staff 85, this interrogatory deals with the weighting factors used in the cost allocation model for both services and billing and collecting.  And it was the billing and collecting I wanted to look at, which is discussed on page 2, the last paragraph on page 2.


I would like to walk through my understanding of how the calculation was actually done, and I have a couple of questions for you as we go.


So, basically, in coming up with the weighting factors for billing and collecting, you basically looked at 2014 actual costs and used that as your basis for establishing the weighting factors, if I understand it correctly.  Is that correct? 


MR. MURPHY:  Yes, that's correct.


MR. HARPER:  And you talked here about looking at actual vendor costs.  Now, are all of your billing and collecting costs vendor costs, or are there some -- I'm not going to get into whose staff it is, but are there some staff costs as well that have to be assigned?


MR. MURPHY:  It's a combination.


MR. HARPER:  When you say "vendor," it was both vendor and staff costs you looked as when you are going through this? 


MR. MURPHY:  Correct.


MR. HARPER:  That's fine.  The way I understand this, what you did for each vendor -- and perhaps for your own staff -- you looked at which customer classes they supported in doing the billing and collecting and then maybe -- and then looked at the total costs and which classes they supported, what was the relative effort in supporting those different classes, and then used the 2016 customer count to sort of -- relative effort number of customers to assign the 2014 costs to each of the customers that was done -- customer classes what was done by vendor and for your own staff.  Is that correct? 


MR. MURPHY:  Yes, that's correct.


MR. HARPER:  Okay.  Can you tell me why, if you're using 2014 costs, you use the 2016 customer count as opposed to using a 2014 customer count in going through the process? 


[Witness panel confers]


MR. MURPHY:  We used the 2016 customer class counts similar to what was done in the St. Thomas proceeding. 


MR. HARPER:  Okay. 


MR. MURPHY:  That's why.


MR. HARPER:  Good enough.  We'll take that.  Now, as I understand it, having gotten for each of the categories the allocation of customer classes, you then summed those costs up over each of the vendors and your own staff to come up with the total 2014 costs assigned by customer class; correct? 


MR. MURPHY:  Yes.


MR. HARPER:  Then you established a relative weighting by looking at what were the total costs relative to residential over the total costs for the other customer classes relative to residential -- excuse my tongue tie here –-MR. MURPHY:  Yes.


MR. HARPER:  -- and then set residential at one to come up with the weighting factors; correct?


MR. MURPHY:  Yes.


MR. HARPER:  Now, what I have a problem is the fact that, in the cost allocation model itself, these weighting factors that you work up are then multiplied by the number of bills in order to come up with the allocation factor that is actually applied to the customer classes.


So it seems to me that, in using total costs as opposed to cost per bill, you are actually double counting the volumes in coming up with the final allocation to customer classes.  Do you see my problem? 


MR. MURPHY:  No, I don't.  I actually don't.


MR. HARPER:  Okay.  Well, these weighting factors that you come up with here, if you look at the cost allocation model, are then multiplied by the -- like, each of the weighting factors is multiplied by the number of bills forecast for each customer class to come up with the final allocation or assignment parameters to customer classes.


So, in essence, what this weighting factor, if you think, in principle is supposed to capture is what is the relative effort per bill.  And then in the cost allocation model, that is multiplied by the number of bills to come up with the allocation process.


In your factor already, you’ve already built in the number of bills by using total costs -- the relative total costs to come up with your allocation factor. 


[Witness panel confers]


MR. MURPHY:  Yes, yes. 


MR. HARPER:  Do you see the double counting here that I am concerned about? 


[Witness panel confers]


MR. HARPER:  If you don't readily see it, then maybe you can do a couple of calculations for me, and we can move on, and we can raise this during the settlement process or during argument.


MR. KEECH:  I think we would appreciate that.  I think we understand where you are coming from, but we don't necessarily agree with the outcome.  We are not saying we're right and you are wrong, but we don't want to answer that on the fly.  We do see your point.


MR. HARPER:  Maybe what you could do is undertake to do maybe four things for me.  One is to show for me the total 2014 billing costs that you attribute to each customer class using your methodology. 


MR. MURPHY:  Yes.


MR. HARPER:  And then if you, instead of using 2016 customer counts, if you were to use 2014 customer counts, what would have been the total cost that would have been attributed to each customer class using your methodology. 


MR. MURPHY:  Yes. 


MR. HARPER:  Okay.  Then if you've got those total costs, if you could tell me the total number of bills per customer class that were issued in 2014. 


MR. MURPHY:  Yes.


MR. HARPER:  Okay.  If you could give us those three numbers, we can subsequently have a discussion about this; that would be great.


MR. MURPHY:  Yes.


MR. MILLAR:  The undertaking is JT2.11.  There were a number of undertakings given to Mr. Aiken, which I think were grouped under 2.10.  So I am marking this as JT2.11. 

UNDERTAKING NO. JT2.11 (2):  TO SHOW THE TOTAL 2014 BILLING COSTS THAT YOU ATTRIBUTE TO EACH CUSTOMER CLASS USING THEIR METHODOLOGY; TO PROVIDE THE ANSWER TO THE FOLLOWING QUESTION:  INSTEAD OF USING 2016 CUSTOMER COUNTS, IF YOU WERE TO USE 2014 CUSTOMER COUNTS, WHAT WOULD HAVE BEEN THE TOTAL COST THAT WOULD HAVE BEEN ATTRIBUTED TO EACH CUSTOMER CLASS USING YOUR METHODOLOGY?  AND TO PROVIDE THE TOTAL NUMBER OF BILLS PER CUSTOMER CLASS THAT WERE ISSUED IN 2014


MR. HARPER:  My only other question has to do with the response to 7 VECC 60 -- excuse me, no.  Actually it is – I believe it is 7 VECC 39, actually. 


This has to do with the resident to cost ratios.  And in response to part (b), you provided an updated version of the Board's appendix 2P, which shows the proposed revenue-to-cost ratios. 


MR. MURPHY:  Yes.


MR. HARPER:  If we go down to section (c) here, it shows what the status quo and proposed revenue-to-cost ratios are for 2016 for each of the customer classes.


MR. MURPHY:  Yes.


MR. HARPER:  And just as a general question in terms of your philosophy for changes, I notice that you've increased the residential ratio from -- you'll have to excuse me.  My glasses aren't quite as sharp as they should be -- from 96.91 percent to 97.8 percent, if I am not mistaken there. 


MR. MURPHY:  Yes. 


MR. HARPER:  I was wondering why you undertook that increase when, if I go down to something like the large-use class, you only increased them from 91.08 to 95.47, so actually their final -- their final ratio that you are proposing for them is even further away from the one in the starting point we had for residential.  Why wasn't there more of a balancing out in terms of trying to move the different customer classes closer to one?


MR. MURPHY:  Yes.  So what we did was, when we increased the street lighting class by five, we then looked at the ratios and who was the lowest.  And then we -- so we moved the large-use class up from 91.08 to 95.47, which was slightly less than the street lighting increase.


And then the residual amount was the residential increase. 


MR. HARPER:  I guess, why wouldn't you have applied -- why wouldn't you have increased the large-use class even further since they're still below residential? 


MR. MURPHY:  Our thought process at the point in time was we didn't want to increase the large use class more than we would increase the street lighting class, so...


MR. HARPER:  Okay.  Fine.  No, I understand your thought process.  Thank you very much.


Those are all of my questions on Exhibit 7. 


MR. MILLAR:  Thank you.


Who would like to go next? 

EXHIBIT 7 QUESTIONS
Examination by Mr. Aiken:

MR. AIKEN:  I can go next.  I just have some follow-ups from what Bill had.  He covered most of what I had. 


And I guess on the large-use increase, can you confirm that the increase in the total bill for the large-use customer class in 2016 is less than 1 percent, based on your proposal? 


MR. MURPHY:  Subject to check. 


MR. AIKEN:  Okay.


MR. MURPHY:  If that's...


MR. AIKEN:  And again, tying in the large use and the residential, what would be the proposed revenue-to-cost ratios that the residential and large use ratios (sic) were constrained to be equal to one another?  In other words, the large use would go up a little bit more, and the residential would go up a little bit less?  Could you calculate what that ratio would be? 


MR. MURPHY:  Yes, we could. 


MR. MILLAR:  So that is JT2.12. 

UNDERTAKING NO. JT2.12:  TO CALCULATE, TYING IN THE LARGE USE AND THE RESIDENTIAL, WHAT WOULD BE THE PROPOSED REVENUE-TO-COST RATIOS THAT THE RESIDENTIAL AND LARGE USE CUSTOMERS WERE CONSTRAINED TO BE EQUAL TO ONE ANOTHER FOR 2016 ONLY.


MR. MURPHY:  So you want us to recalculate the proposed ratios having the large use and the residential the same? 


MR. AIKEN:  Yes.  For 2016 only.


MR. MURPHY:  Okay. 


MR. AIKEN:  And then my last question is on the increase you're proposing in the street lighting class from 60.22 percent to 80 percent by 2020. 


And my question is:  could the increase in the street lighting revenue-to-cost ratio to 80 percent be accelerated such that it would reach that 80 percent before 2020 without having a street lighting bill impact of more than 10 percent? 


MR. MURPHY:  I don't know if it -- if we -- I don't know, if we accelerated it, if it would be more than 10 percent or not. 


MR. AIKEN:  Okay.  Thank you.  Those are my questions. 


MR. SHEPHERD:  Sorry, can I follow up on that?  Can you calculate how quickly you can get to 80 percent without going over the 10 percent? 


MR. MURPHY:  Yes. 


MR. SHEPHERD:  That is an undertaking?


MR. MILLAR:  Yes, it is JT2.13.  

UNDERTAKING NO. JT2.13:  TO CALCULATE HOW QUICKLY YOU CAN GET TO 80 PERCENT WITHOUT GOING OVER THE 10 PERCENT


MR. MILLAR:  Anyone else with questions under Exhibit 7?  Exhibit 8?  Any volunteers? 


MR. AIKEN:  I will go first. 


MR. HARPER:  Thank you. 

EXHIBIT 8 QUESTIONS
Examination by Mr. Aiken:


MR. AIKEN:  Nobody is jumping, I take it, there. 


My first question is 8 SIA 11.  This deals with specific service charges. 


My question is:  If the Board undertakes a review of specific service charges and proposes increases to those charges to reflect increased costs to provide them during the customer IR period for Kingston Hydro, how would Kingston Hydro treat the incremental revenue? 


MR. KEECH:  So the panel member that just joined us is Mr. Steve Sottile, and his -- S-o-t-t-i-l-l-e?  One L.  I was close.  And his role with us is conservation and demand management.


MR. MURPHY:  So to answer your question, Randy, that is something that we haven't given any thought to. 


MR. AIKEN:  Okay.  8 SIA 12, I believe.  Yeah, 8 SIA 12.  And the response is on the last page.  It is page 6 of 6.  Let me just look at my notes here for a minute. 


Oh, yes.  Okay.  So you have answered the question for 2016, current rates and based on updated rates that SIA asked you for. 


Can you provide that table for the full five years, 2016 through 2020? 


MR. MURPHY:  Yes, we can. 


MR. AIKEN:  Okay. 


MR. MILLAR:  JT2.13 (sic). 

UNDERTAKING NO. JT2.14:  TO PROVIDE THAT TABLE FOR THE FULL FIVE YEARS, 2016 THROUGH 2020, RE:  HAVING PREVIOUSLY ANSWERED THE QUESTION FOR 2016, CURRENT RATES AND BASED ON UPDATED RATES THAT SIA ASKED YOU FOR


MR. AIKEN:  And my final question is:  Would the rates calculated for 2016 be increased each year to reflect inflation and/or productivity similar to the increase in OM&A costs proposed by Kingston Hydro, or would they be fixed for the five-year period? 


MR. MURPHY:  We would be looking at them being fixed for the five-year period. 


MR. AIKEN:  Okay.  Thank you.  Those are my questions on Exhibit 8.


MR. MILLAR:  Thank you, Mr. Aiken.  I misidentified the last undertaking.  The last one that was just given is, in fact, JT2.14.


Anyone else have questions under this exhibit? 

Examination by Mr. Harper:


MR. HARPER:  Yes, I have got a couple.  The first one and maybe the easiest reference is at the start of yesterday, at page 33 of the transcript.  I believe Board Staff asked you about doing 2016 bill impacts with the OECB removed, if I am not mistaken.


Correct me if I'm wrong.  I think, for 2016, is there also not a change in the recovery and non-recovery of the debt retirement charge, or not for 2016?  I am trying to remember. 


MS. ARMSTRONG:  Yes. 


MR. HARPER:  Yes.  So I was wondering if that too, when we are looking at total bill impacts now, if we could incorporate that as well, that change as well into the -- into any calculations of total bill impacts going forward.  Would that be possible? 


MR. MURPHY:  Yes, we will.


MR. HARPER:  Okay.  And, finally, I would like to turn to 8 VECC 44.  And this is dealing with sort of the standby power proposal that you have.  I would like to look at the response to part (a), which is on page 2 of that response. 


I guess I was just struggling with the response in the sense the first sentence says:

"There is no way to determine if standby power has been provided in a particular month when no utility grade metering is installed on a behind-the-meter generator."

It then goes on in the second sentence and says:

"In cases where standby power was provided in a given month..."

And goes on to describe how the billing will be done.  And I guess I'm just struggling -- there seems to be a problem with, if we can't identify it, how do we know once it has been provided, or is this billing practice going to apply in every month because we don't know when it is provided? 


MR. SOTTILE:  Thank you for the question.  The answer is that this is a typographical error.  It should read:

"There is no way to determine how much standby power is provided in a given month". 

MR. HARPER:  So, on that basis, you are going to assume in every month the amount that's been provided is equal to the installed capacity -- the installed capacity of the generator and apply the rate to that amount for billing purposes? 


MR. SOTTILE:  Correct.  In the absence of utility grade metering, correct.


MR. HARPER:  Okay.  Fine.  Thank you very much.  That is the only other question I had. 


MR. MILLAR:  Anything else?


MS. ARMSTRONG:  Can I actually follow up on that one?  In that interrogatory response, the last sentence then goes on:   "Standby power --"


MR. SHEPHERD:  Is your microphone on? 


MS. ARMSTRONG:  The mic is on. 


MR. SHEPHERD:  It's not. 


MS. ARMSTRONG:  Okay.  The last sentence in that interrogatory response then goes on:

"Standby charges would be determined by multiplying the applicable standby power charges."

I just want to confirm that, if you're charging a distribution charge, that no standby power would apply in that particular month.  Like, you wouldn't be applying standby power as well as the distribution charge; correct? 


MR. SOTTILE:  Which circumstance are you referring to? 


MS. ARMSTRONG:  In this interrogatory response, it says:

"In case where standby power was provided in a given month, distribution charges on the generator host facility load will be determined..."

And then you describe how it will be determined.


In that case, no standby charges would apply, because the distribution charge applies. 


MR. SOTILE:  So in the case that the metered load exceeds the peak load of the generator plus the metered load, that is correct.  We would only assess distribution charges based on the metered load.


MS. ARMSTRONG:  Okay, thank you. 


And then also in relation to that interrogatory, you confirmed that this rate will no longer be interim.  But on the tariff sheet, you still have "Interim" on the top of the tariff sheet.


Can you just please confirm if this will be a rate -- a fixed rate or interim rate? 


[Witness panel confers]


MR. SOTILE:  That is an error.  We are applying for this rate to be a permanent rate and no longer an interim rate.


MS. ARMSTRONG:  Thank you.  That is all of my questions on that exhibit. 


MR. MILLAR:  Okay.  I think that's it.  We can move to the next exhibit, I think.  Are we at nine now?  Anyone for nine? 


MR. AIKEN:  I can go first again.


MR. MILLAR:  Thank you. 

EXHIBIT 9 QUESTIONS
Examination by Mr. Aiken: 

MR. AIKEN:  The first set of questions deal with 9 Staff 98 and 9 Staff 100; it is the stranded meters. 


In the response to part (b) of 9 Staff 100, the response says that Kingston Hydro did not apply depreciation because the assets were no longer in service.


Then if you go back to the response to 9 Staff 98 and you see appendix 2S table that is provided in the response, the net asset values don't change in 2011 through 2014, which confirms that there was no annual depreciation.


So my question is:  Were the meters that are now considered stranded meters included in rate base in the last test year for 2011? 


MR. MURPHY:  Yes, I believe they were. 


MR. AIKEN:  So they were in rate base.  Okay.  So when were these stranded meters moved from account 1860 to account 1555? 


MR. MURPHY:  I would have to check that.  I'm not sure which year they would have been removed. 


MR. AIKEN:  But it would have been in 2011 or later? 


MR. MURPHY:  Yes. 


MR. AIKEN:  Okay.  So given that they're in rate base and you’re setting your 2011 rates, do you agree that Kingston Hydro recovered the cost of capital and depreciation expense associated with those meters in 2011 and subsequent years?  In other words, they're built into your base rates? 


MR. MURPHY:  Yes.  I think they were built into our base rates, yes. 


MR. AIKEN:  Then the appendix 2S in 9 Staff 98, does that reflect the accumulated depreciation as of the end of 2011 or 2010? 


MR. MURPHY:  I'm not sure. 


MR. AIKEN:  Could you undertake to provide, you know, what year-end that $1,686,706 is for, and also, at the same time, show the depreciation expense for each of 2011 through 2015?


MR. MURPHY:  Yes. 


MR. MILLAR:  JT2.15. 

UNDERTAKING NO. JT2.15:  TO PROVIDE WHAT YEAR-END THAT $1,686,706 IS FOR, AND ALSO SHOW THE DEPRECIATION EXPENSE FOR EACH OF 2011 THROUGH 2015?


MR. AIKEN:  Then my last set of questions is on the responses to 9 Staff 101 and 9 Staff 102, and specifically, it is appendix 2EC that is provided in attachment 1 to Staff 101 where you do the calculation.  This is account 1576, and your proposal is to return the roughly 3.4 million, I think it is, back to ratepayers over five years.


And my question is on the box at the bottom where you calculated the weighted average cost of capital.  And I take it you have inserted a lot of these lines in the Board's model; is that correct? 


MR. MURPHY:  Yes, yes. 


MR. AIKEN:  So you're not following -- my understanding is you're not following the prescribed methodology for calculating the total return to be included in this disposition, which is found in note 2 to that table. 


Note 2 says:

"The return on rate base is calculated as the variance account balance as of 2015 times the weighted average cost of capital times the number of years and disposition period."

Is that correct?  You're not following that methodology in the calculations you have provided? 


MR. MURPHY:  Yes.  The methodology we followed was to take the weighted average cost of capital average for each year with the balance that was outstanding. 


MR. AIKEN:  Yes, okay.  Those are my questions.  Thank you.


MS. SABHARWAL:  I'm Rajvinder Sabharwal, Board Staff.  I have a follow-up. 


MR. MILLAR:  Spell your name.

Examination by Ms. Sabharwal:

MS. SABHARWAL:  I will spell it, S-A-B-H-A-R—W-A-L.


I will have a -- first I have a follow-up question on Randy's question.  So that is the -- calculating it the way you have calculated it, on a declining balance basis, the return portion, that is a departure from Board policy, as Randy noted. 


Your rationale for that?  Why do you think that is appropriate? 


MR. MURPHY:  So, again, as you are repaying amounts to customers, it was our view that the return for each year should be based on the balance that was remaining to be repaid to customers and not the beginning balance because then, over time, you're providing a rate of return on a balance that has already been returned to customers.


So that's why we have calculated the return based on the average balance outstanding for each year. 


MS. SABHARWAL:  Okay.  Thank you.


I have a question on 9 Staff 101, part (d), and 9 EP 46.  The appendix 2EC that was filed with this IR response and appendix 2BA, also -- sorry, that was pre-filed.  The opening net PP&E 2013 under former CGAAP, under 2EC, the number is slightly different from appendix 2BA.


Appendix 2EC shows the opening net PP&E at 31,325,563, and under former GAAP as well as revised GAAP. But appendix 2BA, which you filed with the IR response, was 31,207,079.


We noticed that you talked about CWIP being included.  Was some of the CWIP maybe left here by error or something?  Or why are the -- why is there a difference?  It is not a big difference, but there is a difference. 


MR. MURPHY:  I'm sorry.  Could you point me to the second number?  I found your first number on 2EC. 


MS. SABHARWAL:  Okay. 


MR. MURPHY:  The second number that you --


MS. SABHARWAL:  If you look at -- I think it is 9 Staff 101, attachment 1. 


MR. MURPHY:  Yes. 


MS. SABHARWAL:  That number is 31,207,079.  Let me just make sure that is the right one. 


Sorry, appendix2BA was the pre-filed evidence.  You did not update that particular one.  We didn't ask you to update that particular one.  So that would have been chapter 2 appendices for -- so if you look at 2012 ending, that would give you the opening for 2013. 


MR. MURPHY:  I think the difference there relates to the adjustment that we did at the opening of 2013 that I referred to in one of my other IR responses in 101. 


MS. SABHARWAL:  Okay.  Thank you.


Okay.  I have another question on 9 Staff 103 where you calculated the customer contributions, the component to be taken out.  And, also, I would like to just -- I would like to know if you have -- if you have applied -- elected to utilize the rate regulated deemed cost exemption and, going forward, you have zeroed out the accumulated depreciation and customer contributions, because all the appendices that were filed still continued with the accumulated depreciation and customer contributions on your fixed asset continuity schedules, Appendices 2Bas, for all the years --


MR. MURPHY:  Yes, yes.  So --


MS. SABHARWAL:  So you have applied it? 


MR. MURPHY:  Yes.  And given the fact that there is no difference in the two for the PP&E, the appendices still would have the same net book value. 


MS. SABHARWAL:  Yes, that's true.  But on your books of accounts you would have --


MR. MURPHY:  On our financial statements, we will have that, yes. 


MS. SABHARWAL:  Okay.  Okay.  So the attachment 1 to this IR, so IR response -- I believe it was filed with 9 Staff 101 where you calculated the 1575 impact of customer contributions. 


In that schedule, you have shown amortization of previous contributions of 60,312 plus 2,145, which is a total of 62,457.  That number does not match your -- the 2BA schedule that you submitted with the IR response -- one of the IR responses for -- I believe it was with 9 Staff 103. 


MR. MURPHY:  So how much is the difference? 


MS. SABHARWAL:  The difference is about $60,000, I believe -- or, sorry, no, about $45,000.  But I would like to note that the number in the previous schedule that you submitted for that year, for 2014, the 2BA matches that number, but the updated version doesn't match the 62,000 total for the customer contributions -- the amortization that you showed on the...


MR. MURPHY:  Okay.  I don't know what the difference is. 


MS. SABHARWAL:  It is like 45,000, something like that, but I just -- it is probably not material, but take a look at it to make sure it is corrected for when you need to do the final version of everything. 


MR. MURPHY:  Yes. 


MR. MILLAR:  JT2.16. 

UNDERTAKING NO. JT2.16:  TO TAKE A LOOK AT THE NUMBERS IN THE PREVIOUS AND UPDATED SCHEDULES TO MAKE SURE IT IS CORRECTED FOR.


MS. SABHARWAL:  I am done. 

Examination by Ms. Armstrong:

MS. ARMSTRONG:  Okay.  I have two more questions.  One is referring to 9 VECC 46, and it is about the failed meters, the failed smart meters that you are requesting cost recovery for in this application. 


In response (a) you say that 73 meters were returned under warranty.  I just wanted to confirm that the capital costs and OM&A costs for those meters are not being recovered in this application, or is a portion of it recovered? 


MR. MURPHY:  So I can't -- I don't know if they're in or not, in the application. 


MS. ARMSTRONG:  Would you take an undertaking on that? 


MR. MURPHY:  Yes. 


MR. MILLAR:  2.17. 

UNDERTAKING NO. JT2.17:  TO CONFIRM THAT THE CAPITAL COSTS AND OM&A COSTS FOR THOSE METERS ARE NOT BEING RECOVERED IN THIS APPLICATION OR WHETHER A PORTION IS RECOVERED


MS. ARMSTRONG:  And then my last question is on your global -- your GA balance, which is a debit balance of, I believe, 3.4 million.  I am just trying to get a sense of whether you have a rationale for why this balance is so large. 


MR. MURPHY:  I think that is something that many distributors are trying to get a grasp of.


MS. ARMSTRONG:  Yes.


MR. MURPHY:  We have discussed it as a group, and we have actually had discussions with the IESO on this amount, because it is a significant concern, the growing balance.


So we've -- you know, it is something we monitor every month and see where it is going, up, down.  The trend has been up.  And so trying to get a grasp of why is difficult.


MS. ARMSTRONG:  And I fully appreciate that, and I know that you are not the only one.  But would you be able to undertake, giving us -- taking a look at your RPP/non-RPP splits, maybe your ratio of between RPP and non-RPP consumption, would you undertake to take a bit of a closer look and try to give us a little bit of an understanding? 


MR. MURPHY:  So I am -- just before I agree to that, I just -- we -- Daria Babaie and his group were in and looked at this.  I believe 2014 we had an audit of our deferral, and they looked at all of this already.


So -- and they were -- you know, we had some minor adjustments at that point.  But they -- the methodology at the time we were following.  So I'm not sure if that is enough for you. 


MS. ARMSTRONG:  Yes.  Just something -- your audit reports are confidential.  So I don't have access to that. 


MR. MURPHY:  Okay. 


MS. ARMSTRONG:  So if you could just give us what you have on that, I would appreciate it.


MR. MURPHY:  So what -- like, what do you mean by "give us what you have"?


MS. ARMSTRONG:  Like, the methodology changes that you made, some rationale -- and I understand that it might not be -- just any kind of idea of the discussions you had with the IESO --


MR. MURPHY:  Okay.


MS. ARMSTRONG:  -- some idea of where the trend is coming from. 


MR. MURPHY:  Sure.  I can undertake to provide a verbal summary of sort of how we -- how we're accounting for it.


MS. ARMSTRONG:  Yes, that would be great.


MR. MURPHY:  And that would give you an idea, sort of, of what we're doing with this variance account.


MS. ARMSTRONG:  Thank you.


MR. MURPHY:  Okay. 


MR. MILLAR:  That's JT2.18. 

UNDERTAKING NO. JT2.18:  TO TAKE A BIT OF A CLOSER LOOK AND TRY TO GIVE A LITTLE BIT OF AN UNDERSTANDING OF WHAT IS BEING DONE WITH THIS VARIANCE ACCOUNT. 


MS. ARMSTRONG:  That's it for me.  Thank you. 


MR. MILLAR:  I think that is it for Exhibit 9.


Exhibit 10?  Is there an Exhibit 10?  Anyone for Exhibit 10?  Anyone for anything at all?  Okay.


Not hearing anyone, I guess that concludes our technical conference.  Thank you very much to the witnesses and to the parties and to the court reporter, and we are adjourned until -- I guess it is the settlement conference, is it? 


MS. ARMSTRONG:  Settlement conference.


MR. AIKEN:  What about the issues list? 


MR. MILLAR:  Ah, yes.


MS. ARMSTRONG:  We're going offline with that now. 


MR. MILLAR:  Maybe if you could stick around.  Why don't we adjourn the conference, and then we can have a discussion about the issues list.  Okay.  So the conference is concluded.  Thank you. 

--- Whereupon the conference concluded at 12:11 p.m.
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